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Part A: Vocabulary and Grammar

Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence.

Then mark your choice on your answer sheet.

1- Your little brother ~—==——- to college or thinking of marriage by the time yvou come back.

1) will go 2) is going 3) will have gone 4) will be going
2- The deficit --————-- so large, we will probably have to pay additional taxes.

1) grows 2) is growing 3) had grown 4) was growing
3- 1 tried to persuade him to join me, but in the end [ ————-.

1) had on 2) give up 3) gave up 4) have back
4- The girl takes ------—-- her mother rather than her father.

1) to 2) up 3) before 4) after
5- To get some money from the insurance company, he had had his store ----—— up last year.

1) blew 2) blow 3) blown 4) blowing
6- The telephone lines were —------- when the truck hit the pole.

1) damaged 2) wounded 3) harmed 4) injured
7- Doing a thing over and over again makes it a -——- !

1) habit 2) hobby 3) practice 4) performance
8- Make sure you -=-—-- that present carefully or it may get damaged in the post.

1) flourish 2) consume 3) wrap 4) dispatch
9- If you want antibiotics, you’ll have to ask the doctor for a -—-----

1) receipt 2) recipe 3) medicine 4) prescription
10- As you’ve arrived late, you’ll have to --—-- the time you have lost.

1) make off with 2) make up for 3) make out 4) make for

Part B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each
blank. Then mark your choice on your answer sheet.

Dear Mr de Oliveira,

Thank you very much for coming to see us in London the day before yesterday. We were very
(——11-—) with your interview and would like to offer you the position of Marketing Manager (Antibiotics) for
South America. We would like you to start in three months’ time.

After a one-year (——12-—), we expect to see our market share grow. We are sure you can help usto (- 13——) this.
The starting salary will be $85.000 p.a. plus car and full medical insurance. In the second year, this will rise
to $90,000. You will also receive regular profit shares based on sales 14——) for your area.

If you would like to accept this offer, please contact me at the above address and we will draw up a contract.
I look forward (—15—) from you.
Yours sincerely.

11- 1) impressed 2) surprised 3) interested 4) appreciated
12- 1) date 2) occasion 3) stance 4) period

13- 1) assume 2) succeed 3) achieve 4) perform
14- 1) figure 2) statistics 3) account 4) number

15- 1) hear 2) to hearing 3) to hear 4) hearing
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Part C: Reading Comprehension

Directions: Read the following three passages and choose the best choice (1), (2), (3), or (4).
Then mark it on your answer sheetl.

PASSAGE 1:

Much of the world is increasingly urbanized. Before 1850 no country could claim to
be predominantly urbanized and at the turn of the century, only Great Britain could be

regarded as such. Urbanization is not just the growth of cities but rather it is a
complex change in economic, social and political thinking. As cities grow, new
definitions have been introduced for census purposes in which the concept of the
"extended city" is commonly used. Definitions such as the urban area based on the
physical extent of the built-up area and minimum requirements of population size and
density as well as the metropolitan area, based on urban population size and commute
patterns as a measure of spatial integration give us a much better indication of the
population size of cities than the use of political entities like the municipality. One of
the definitions that have raised much interest is that based on the concept of urban
field which is a new form of urban habitat of relatively low density involving a good
transportation system and a broad array of economic, social and recreational
opportunities. Each urban field is centered on and dominated to a certain ¢xtent by a
metropolitan area of at least 200,000-300,000 people. It's outer limits can be defined
by two criteria: (1) The maximum time or distance that most people are prepared to
commute. (2) The time or distance that most people are prepared to spend traveling to
or from weekly or weekend recreational activities. Many of these urban fields come
into contact with each other and they interact. Cities do not and cannot exist in
isolation. Whether you view the developments in transportation and communication
as prerequisites or agents for the growth of cities, the concentration of surplus
products in cities necessitated linkages initially with their surrounding regions and
later as settlement proceeded westward and a spatial division of labour accompanied
the geographic specialization of production, with other regions and cities.

16- We may understand from the passage that —-—---—- v
1) urbanization is mainly a matter of a complex change in a country’s social thinking
2) by the middle of the nineteenth century Great Britain had been largely urbanized
3) the concept of the extended city has been in common usage since 1850
4) an urban field does not depend for its existence on its political facilities
17- One of the new definitions introduced for effective census purposes includes the concept of ----
------ as an important determining factor.
1) ‘low density’ 2) ‘transportation’
3) “the municipality’ 4) ‘minimum requirements’
18- Which of the following about urban fields is TRUE according to the passage?
1) They are linked to certain urban areas.
2) Their outer limit is quite easily accessible.
3) They are usually visited for weekend recreation.
4) They depend on their numerous economic attractions .
19- It is implied in the passage that --——-——-.
1) cities are highly productive areas
2) cities are the centre of municipalities
3) a city’s surrounding regions are often settled
4) there is a tendency towards migration from cities
20- The word ‘array’ in line 13 can best be replaced by -—- .
1) ‘career’ 2) ‘collection’ 3) ‘space’ 4) ‘specialty’
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PASSAGE 2:

At the time Malthus wrote, most societies had populations at or near their agricultural
limits. But by the 1970s, agricultural technologies of the green revolution had
expanded agricultural production in some parts of the world, and what he termed
'misery': premature deaths, war, political unrest, and other forms of population control
would lower population far before the famine he believed would occur. Numerous
scholars accept that Malthus' catastrophe is occurring, but not necessarily in a
spectacular way that commands daily headlines. In particular Pimentel and Nielsen
(using independent analyses) find that the human population has passed the numerical
point where all can live in comfort, and that we have entered a stage where many of
the world's citizens and future generations are trapped in misery. There is evidence
that a catastrophe is underway as of at least the 1990s; for example, by the year 2000,
children in developing countries were dying at the rate of approximately 11,000,000
per annum from strictly preventable diseases. This data suggests that by the standard
of misery, the catastrophe is underway. Regarding famines, there is abundant data
demonstrating the world's food production has peaked in the very regions where food
is needed the most. For example in South Asia, approximately half of the land has
been degraded such that it no longer has the capacity for food production. In China
there has been a 27 percent irreversible loss of land for agriculture, and continues to
lose-arable land at the rate of 250,000 hectares per year. In Madagascar, at least 30
percent of the land previously regarded as arable is irreversibly barren. Many
technologically developed countries have by 2006 passed through the demographic
transition, a complex social development in which total fertility rates drop in response
to lower infant mortality, more education of women, increased urbanization, and a
wider availability of effective birth control.

It is stated in the passage that -———-—--,

1) societies are often near their agricultural limits in terms of their population

2) Malthus cannot be rejected as his predicted “misery’ is already taking place today

3) Malthus ‘misery’ worked along with other forms of population control by the 1970s
4) there are numerous pieces of news supporting the fact that famine lowers populations
The passage mentions that ——-———-- »

1) the world’s citizens have been trapped in misery since Malthus’ time

2) Pimentel and Nielsen carried out a joint research about population control

3) about eleven million children died each year from preventable diseases around 2000
4) Pimentel and Nielsen predict that human population will rapidly decrease at different stages
Which of the following about famine is TRUE according to the passage?

1) It can be solved if there 1s adequate food production in the world..

2) South Asia depends only on half of its land for proper food production.

3) It is equal to premature deaths in terms of the number of people it claims.

4) Each year, 250,000 hectares of arable land are added to Chinese farming capacity.

We may understand from the passage that --—--—-—-,

1) Madagascar has comparatively more arable land than china does

2) population reduction may in fact arise from very healthy causes

3) complex social development normally lead to better living standards

4) China and Madagascar are two of the worst examples of the world’s land management
The word ‘abundant’ in line 14 is closest in meaning to -—-—-—-—.

1) “available’ 2) ‘effective’ 3) ‘plenty’ 4) “similar’

PASSAGE 3:

In developed countries there has been a backlash against excessive man-made clutter
in the environment, such as signposts, signs, and hoardings. Other issues that generate
strong debate amongst urban designers are tensions between peripheral growth,
increased housing density and planned new settlements. There are also unending
debates about the benefits of mixing tenures and land uses, versus the benefits of
distinguishing geographic zones where different uses predominate. Successful urban
planning considers character, of "home" and "sense of place”, local identity, respect
for natural, artistic and historic heritage, an understanding of the "urban grain" or
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"townscape," pedestrians and other modes of traffic, utilities and natural hazards, such
as flood zones. Some argue that the medieval piazza and arcade are the most widely
appreciated elements of successful urban design, as demonstrated by the Italian cities
of Siena and Bologna. While it is rare that cities are planned from scratch, planners
are important in managing the growth of cities, applying tools like zoning to manage
the uses of land, and growth management to manage the pace of development. When
examined historically, many of the cities now thought to be most beautiful are the
result of dense, long lasting systems of prohibitions and guidance about building
sizes, uses and features. These allowed substantial freedoms, yet enforce styles,
safety, and often materials in practical ways, Many conventional planning techniques
are being repackaged as smart growth. There are some cities that have been planned
from conception, and while the results often don't turn out quite as planned, evidence
of the initial plan often remains. Some of the most successful planned cities consist of
cells that include park-space, commerce and housing, and then repeat the cell. Usually
cells are separated by streets. Often each cell has unique monuments and gardening in
the park, and unique gates or boundary-markers for the edges of the cell.
Which of the following does the passage mention is essential to successful urban planning?
1) ‘planned settlements’ 2) ‘peripheral growth’
3) ‘geographic zones’ 4) ‘sense of place’
Which of the following is implied by the passage?
1) City planners prefer zoning to managing the uses of land and growth management.
2) Pedestrians are often considered to be the most important elements of urban design.
3) The medieval piazza and arcade have been widely used as design elements across Italy.
4) There is apparently not much opposition against such urban design elements as the medieval
piazza.
We understand from the passage that —----—--—- .
1) it is hardly possible to develop beautiful cities without proper prohibitions and guidance
2) prohibition and guidance will not be effective if there is not the freedom to carry them out
3) planning styles and safety measures should be applied over long and lasting planning systems
4) planning works best when people are allowed excessive freedoms with their building materials
Which of the following is NOT mentioned as included in successful planning ‘cells’?

1) ‘medical facilities’ 2) ‘unique monuments’ 3) “business areas’ 4} ‘cell repetition’
The expression ‘from scratch’ in line 12 can best be replaced by ---------- :
1) ‘from the middle®  2) ‘from a design’ 3) ‘from point zero’ 4) “from specific rules’
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